Name: Date:
Teacher: Class:
Division 506

Divide these numbers.

Why did the teacher wear sunglasses? Because the
students were so bright!

L 60+12= 26. 99 + 11 = 51. 44 + 11 = 6. 144 + 12 =
2. 24 +12 = 21. 72 +12 = 2. 33+ 11= 7. 88+ 11 =
3. 11+11= 28. 22 +11= 53. 108 + 12 = 8. 36+ 12 =
4 48+ 12 = 20. 84 +12= 54. 77 + 11 = 79 120+ 12 =
5 110+ 11 = 0. 96 + 12 = 55. 66 + 11 = 80. 12 +12=
6. 55+11= 3. 132 +12 = 56. 121 + 11 = 8. 22+ 11 =
7 88+11= 2. 11+11= 57. 132+ 11 = 8. 60 + 12 =
8 T72+12= 3. 96+ 12= 8. 132 +12 = 8. 11+11=
. 84+12= 3. 48 +12 = 59. 24 +12 = 8. 99 + 11 =
10132+ 11 = 3. 66 + 11 = 60. 144 +12 = 8. 110+ 11 =
88+ 11= %120+ 12 = 61 44 + 11 = 8. 108 + 12 =
2 55+11= 3. 84+ 12 = 62. 121 + 11 = 87. 48 + 12 =
44 +11 = 8. 88 + 11 = 63. 33+ 11 = 88. 22+ 11 =
M 84 +12= 3. 36+ 12 = 64. 132 + 11 = 8. 11 +11=
B 96+ 12= . 132+12= 65 99+11= 0. 72+12=
o 120+12 = 4. 12 +12 = 6. 77 + 11 = oL 121 +11=
166+ 11= 2. 132 +11= 67. 24 +12 = 2. 88+ 11=
18. 108 + 12 = 3. 96 + 12 = 68. 60 « 12 = 9. 108 ~ 12 =
1999 +11= 4. 44 + 11 = 69. 36+ 12 = 9. 48 + 12 =
20. 110+ 11 = 45. 55+ 11 = 70. 24 =12 = 9. 12+12=
2 84+12= 46 96 + 12 = 188+ 11 = %. 121 +11 =
2 66+ 11= 4. 108 + 12 = 2. 110 + 11 = 7. 132+ 12 =
2% 55+11= 48 48 + 12 = 311+ 11 = %. 144 + 12 =
4. 22+11= 49. 60 + 12 = 7444 + 11 = 9. 88 + 11 =
25 77 +11= 50. 120 + 12 = 5121+ 11 = 100 84 + 12 =
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Answer Key Date:
Teacher: Class:
Division 506

Why did the teacher wear sunglasses? Because the
students were so bright!

Divide these numbers.

L 60+12=5 26 99+11=9 5. 44+11=4 76 144+12= 12
2. 24+12=2 21. 72 +12=6 2. 33+11=3 7. 88+11=8
3. 11+11=1 ® 22+11=2 % 108+12=9 ™ 36+12=3
4 48+12=4 29 84+12=7 54 77+11=7 79 120+ 12= 10
5 110+11=10 3. 96+12=8 55 66+11=6 8 12+12=1
6 B5+11=5 3. 132+12=11 5 121+11= 11 8. 22+11= 2
7 88+11=8 3 11+11=1 5 132+11=12 8 60+12=5
8 72+12=6 3 96+12=8 58 132+12=11 8 11+11=1
% 84+12=7 34 48+12=4 59 24+12=2 8. Q99+11=9
100132+11=12 35 gp+11=6 60 144+12= 12 8 110+ 11= 10
1 88+11=8 3 120+12=10 6. 44+11=4 8 108+12= 9
255+11=5 87 g4+12=7 6 121+11=11 8 48+12= 4
0 44-11=4 38 gg+11=8 6 33+11=3 8 22:11=2
M 84+12=7 3 36+12=3 64 132+11=12 8 11+11=1
T 96+12=8 40 132+12=11 % 99+11=9 % 72+12=6
1 120+12=10 4 12+12=1 6 77+11=7 ° 121+11=11
. 66+11=6 42 132+11=12 6 24+12=2 92 88=+11=8
8108+12=9 4 096+12=8 6 0=12=5 9 108+12=9
19099+11=9 44 g44-+11=4 69 36+12=3 9% 48+12= 4
200 110+11=10 4 55+11=5 70 24+12=2 % 12+12=1
2l 84+12=7 4 96+12=8 7. 88+11=8 9% 121+11= 11
. 66+11=6 4. 108+12=9 72 110+11= 10 9 132+12= 11
2% 55+11=5 48 48-+12=4 73 11+11=1 98 144+12= 12
24 22+11=2 49 60=+12=5 T4 44+11=4 9 88+11=8
2 77+11=7 50 120+12=10 75 121+11= 11 100. 84 +12= 7
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